N = 0l & At & Ml A

20208 = =0l &t 2 BH3)

A 230
MM [oEA BE(SF/NHA)

CHol: oD R BAXA CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
23 1t 9,492,428 7,634,867 1,857,561
= 1,249,841
J| 114,159
= 466,931
= 7,661,497
Aostd BX(sE/XH) 594,762 588,103 6,659
= 18,213
Il 114,159
= 11,644
i 450,746
9t JHRE EFXA 355,995 223,846 132,149
J| 114,159
= 241,836
JIEt==3Hl QIESH K& 42,750 42,750 0
Il 42,750
207 A 42,750 42,750 0
J| 42,750
01 gnsA] 42,750 42,750 0
| 42,750
= 0l & 42,750 42,750 0
J| 42,750
ONHT 2EszH e AHAHE olHHIt
EOMEY 29 42,750
Il 42,750
JlEt=H QEESSH N (HESAZAE 2LIHEY) 6,230 2,900 3,330
J| 6,230
207 A 6,230 2,900 3,330
J| 6,230
01 gnsA] 6,230 2,900 3,330
| 6,230
= 0l & 6,230 2,900 3,330
J| 6,230
OHIEAZAIE 2LHY BOAN &4 89 6,230
J| 6,230
DB AN QHEH KEABH A +8) 61,750 0 61,750
Il 61,750
207 Ao 61,750 0 61,750
Il 61,750
.




SAM: 3
Y Xjosd BE(E/AH)
CHol: oD R BAXA CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 =9 61,750 0 61,750
| 61,750
= 0ff &F 61,750 0 61,750
J| 61,750
Ox+ZIZTM 4EtH AEAHE =8 2
= 61,750
J| 61,750
HEIMZAIE 2el 34,560 0 34,560
201  EtI| 34,560 0 34,560
02 =294l 34,560 0 34,560
= 0l & 34,560 0 34,560
OFZXF A3&XN HX &2l
2,600,000& x12& 31,200
OFZRXNF AB&EXN &Ilg 280,000& 123 3,360
H=a=XelAEd=HIA L 22| 50,000 50,000 0
401 Al&HI 220 50,000 50,000 0
01 Al&HI 50,000 50,000 0
= 0l & 50,000 50,000 0
OEUl=s3HNFHINE FUSRAY 50,000
Ot UMY 50,000
AHE ofd Y KA 42,576 57,296 A14,720
101 ol24d| 22,576 37,296 A14,720
04 JI2ZtHIZ22HSE* 22,576 37,296 A 14,720
= 0l & 22,576 37,296 AN14,720
O=Hol =Y 125,420 90 22,576
201  LBt249| 20,000 20,000 0
02 22293l 20,000 20,000 0
= 0ff &F 20,000 20,000 0
Oundd NAEsHE A& !X 10,000
OHIOIRLAEZ=ZE A& & H|l R X I 10,000
FHEZ=zNEH2E 9,600 9,600 0
201  LBt249| 5,600 5,600 0
01 At 2eltl 5,600 5,600 0
= 0ff & 5,600 5,600 0
O ZH I &ILAL Xt & 700,000& 83| 5,600
301 et 3 4,000 4,000 0
09 HALAHIXIEZ 4,000 4,000 0




2N BAD
M [olsy 2H(SF/T)
el 9D R BIXH (2@
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 4,000 4,000 0
ONH=MBAUTL BALANSE HIIN
2u 4,000
BEBHALK 105,100 39,300 65,800
201 sregyl 31,100 29,300 1,800
01 At el 17,500 16,850 650
=0 & 17,500 16,850 650
OBAMELLYS DIAMR U £
1002 %100,00021 10,000
OBSZHANY L =7 SHIMNE
1002 *10,00021 1,000
OBAMHLLD NSO 242
502 *50,00021 2,500
OBAMHRES HAHE 0 MS+E
1002 %40, 00021 4,000
02 ZZ2Y| 13,600 12,450 1,150
= 0 & 13,600 2,450 1,150
OBEWHTLD DNNLS 2HRI
4002 %27, 0000 10,800
OBSEZHASK SBERZ 3508 +8,0000H 2,800
203 YLEFY| 1,000 1,000 0
03 ANHEALEZY| 1,000 1,000 0
=0 4 1,000 1,000 0
CEEER LRSS 20,0002 *5% *103] 1,000
207 AT ELHI 50,000 0 50,000
01 ARg eyl 50,000 0 50,000
=0 4 50,000 0 50,000
oBIBHI=NE 28 89 50,000
401 ANZHIL LY 23,000 0 23,000
01 Al&HI 23,000 0 23,000
=0 4t 23,000 0 23,000
OTZTHAHNE AFHI2TH S 23,000
HIMQAMAAL Zel(2X) 3,429 0 3,429
| 3,429
201 Qw2 3,429 0 3,429
| 3,429
02 ZZ2Y| 3,429 0 3,429
bl 3,429
= 0 4 3,429 0 3,429




SAM: 3
Y Xjosd BE(E/AH)
9l 2D WRe BAXA CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
J| 3,429
OHIE2S M2 AIE 22l 3,429
J| 3,429
OrisAlES 22| 238,767 364,257 A 125,490
= 18,213
& 11,644
i 208,910
O =2 ool ALY 36,426 36,426 0
= 18,213
= 5,464
= 12,749
402 QU2tXp=201H 36,426 36,426 0
18,213
=~ 5,464
i 12,749
02 QAT 2AISEX(0IXTHIA) 36,426 36,426 0
= 18,213
= 5,464
= 12,749
= Ol & 36,426 36,426 0
= 18,213
= 5,464
i 12,749
OOtM== HHMYALE XA 36,426
= 18,213
= 5,464
= 12,749
OrM =SS ToHolle AP (REA) 50,000 0 50,000
402 U2t} =201H 50,000 0 50,000
01 QI2T2AIL S (XA ) 50,000 0 50,000
= 0ff & 50,000 0 50,000
OOrM=E HHMYALE XA 50,000
OS2 OoHE4a X3 20,601 20,601 0
& 6,180
= 14,421
301 etz 20,601 20,601 0
= 6,180




SN BAD
HM: [oHsA B (SF/HH)
S OtMsSA S22 (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
301 Bt M= = 14,421
12 JIEIEA S 20,601 20,601 0
== 6,180
= 14,421
= 0l & 20,601 20,601 0
== 6,180
= 14,421
O0tMs=22 s &2 Ol 24 20,601
== 6,180
o 14,421
OMES TN L 2A(TA) 110,000 160,000 A50,000
206 M &H| 3,000 0 3,000
01 MZH| 3,000 0 3,000
= 0l & 3,000 0 3,000
O« Ot g5y 2 3,000
301 Bt N = 107,000 110,000 A 3,000
12 JIEIE A2 107,000 110,000 A3,000
= 0l & 107,000 110,000 A 3,000
ORMOIMES=E: La&s 243 87,000
ONtMs==2 Qe oIHIH 24t 20,000
OtMEAE B8 X (XHA) 21,740 18,900 2,840
201 282 A Y| 6,740 3,900 2,840
01 Ar&2te2lbl 2,840 0 2,840
= 0l & 2,840 0] 2,840
RoOtMEsSE S EX ME
220& =2, 0000H 440
O==)| Do =28 28 HH 900
O=x2J| MoKt rE T 2 1,500
02 =524t 3,900 3,900 0
= O & 3,900 3,900 0
O Al & &Hl R Xl H| 3,900
Oxtg & Hdl=2l 100, 000& *123] 1,200
O=SUH 1,800& *1,500¢ 2,700
202 044l 2,000 2,000 0
01 2L 2,000 2,000 0
= Ol & 2,000 2,000 0
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SN BAD
Bu: SHOANY L Bol(HB/MIAE - 2T)
oo YR NE =2 CERT
M- =8 a9 (3) - HEAY - a2 (ggz::) @(ijf;ﬁ% HRE2
202 044l 2,100 2,100 0
01 2L 2,100 2,100 0
= 0l & 2,100 2,100 0
OiEgAs ANEYRFE Y|
20,000 *3H %35 2,100
203 Y= 1,000 1,000 0
03 AIEF=XSR=AH| 1,000 1,000 0
= 0l & 1,000 1,000 0
OHARY B 0140 AREX
20,000& 10 53| 1,000
301 et M= 2,000 2,000 0
12 JIEIEA 2 2,000 2,000 0
= 0ff A 2,000 2,000 0
OtFEND Ha3 100, 000& *203] 2,000
307 Q12t0l & 25,000 24,000 1,000
05 QIZt?E= 25,000 24,000 1,000
= 0ff &F 25,000 24,000 1,000
O2=EHE =2 25,000
ARDALE YXAE S XS 415,368 0 415,368
2 230,760
== 73,843
= 110,765
402  QIZ2EXrE20l ™ 415,368 0 415,368
=2 230,760
== 73,843
- 110,765
02 SIZHXE2ALEX(0IEIL) 415,368 0 415,368
= 230,760
o= 73,843
= 110,765
= 0l & 415,368 0 415,368
= 230,760
== 73,843
o 110,765
OALTHI2AIE & SXANE X XA
83,073,600& *5IH A~ 415,368
=2 230,760
== 73,843

-




A 23
Bu: SHOANY L Bol(HB/MIAE - 2T)
Ce: SR N A (e &
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;lﬁ% HRE2
| | 2 110,765
Ol MSX XY =HAL(EE) 43,000 0 43,000
= 21,500
v 21,500
405  XHaHFE S| 43,000 0 43,000
= 21,500
- 21,500
01 XML =SSFSHI 43,000 0 43,000
= 21,500
iy 21,500
= 0ff & 43,000 0 43,000
= 21,500
= 21,500
ODIMSRA =8 EE 43,000,000 = 1CH 43,000
= 21,500
= 21,500
Q2SI LAY 2sH XA 400 400 0
= 200
= 200
301 ABIE N2 400 400 0
= 200
& 200
12 JIEIE A2 400 400 0
= 200
= 200
20| A 400 400 0
= 200
== 200
ORIAARNESEHI LA BE4= 400
= 200
== 200
Metstd e 1,001,350 515,320 486,030
= 491,975
= 148,793
o 360,582
SdI0lE MelXg At 983,950 515,320 468,630
= 491,975
== 147,593

|
oo




A 23
HaM: SHAN Y Y 22 (SHH/AGEE - £F)
SR MEsd id (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 344,382
307 QIz2tol ™ 983,950 436,800 547,150
= 491,975
& 147,593
2 344,382
05 OCItRIEZ 983,950 436,800 547,150
= 491,975
== 147,593
iy 344,382
= 0l A 983,950 436,800 547,150
= 491,975
== 147,593
= 344,382
OZd0lE HMelXa At
3,440,000 2300+ 791,200
= 395,600
== 118,680
= 276,920
OF8® X M 4,270,000& 250} = 106,750
= 53,375
== 16,013
= 37,362
OHIZ=E S 01E E#H XMel 86,000
= 43,000
== 12,900
= 30, 100
A FSENS SFELEE oY ALY 2,400 0 2,400
= 1,200
= 1,200
201 282 A Y| 2,400 0 2,400
== 1,200
o 1,200
01 AFR 22l 2,400 0 2,400
o= 1,200
iy 1,200
= 0l & 2,400 0 2,400
= 1,200
= 1,200

|
©




SN e
M SAQHOY U D2 (BB/MEET - AT
Sl MEEHE HA (2@
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OHANS AHEZ M HUlA
600, 0002 %47t 7 2,400
= 1,200
2 1,200
sz 22 15,000 0 15,000
201 stegyl 14,000 0 14,000
01 At eyl 10,000 0 10,000
=0 & 10,000 0 10,000
OMPIOFBR B2 #42 60,0002 +3004 1,800
OBBHIX B2 AT 150,0008! 44! 600
CEEEF:PIBIIPN-F-" 300,000%! ¥55 1,500
OSHX HEIA = O B
70,0002 *1004 700
OBAZUEH It o 222
8000002 x2Z 1,600
OIEIIA 553 XY SBME L KA
I L 600, 0002 *3% 1,800
ODIMSX W2 2 oY &=
700,000 %25 1,400
OBIEFII FEAM 248
150, 0002 *4% 600
02 B2 4,000 0 4,000
=0 & 4,000 0 4,000
osA=mIII |xB 200,0002! *8CH 1,600
OSHX WEIA HLAY SERI
2,2002 *60004 1,320
ODIMEX 28 HBE SM2
360,0002 %341 1,080
202 Oft 1,000 0 1,000
01 2ol 1,000 0 1,000
=0 & 1,000 0 1,000
OMETH HZ XSOl 1,000
Ji=Hs e 313,178 162,000 151,178
2 186,589
= 61,200
2 65,389
HMIIRNER TOHKI& 300,000 150,000 50,000
2 180,000
= 60,000
2 60,000
402 PIATEOIH 300,000 150,000 150,000
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SN BAD
BH: BHOANY L Bol(HB/MIAE - 2T)
el JI=Hs e (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
402 QI =0lM = 180,000
= 60,000
= 60,000
02 QUAT2AILEX(0IXTHIA) 300,000 150,000 150,000
= 180,000
= 60,000
= 60,000
= 0l & 300,000 150,000 150,000
= 180,000
& 60,000
= 60,000
OFIIXNtSX 704 K& 15,000, 000& *20CH 300,000
= 180,000
& 60,000
i 60,000
EEAZOIERN IOt ClMEIE X2 8,000 6,000 2,000
= 4,000
= 1,200
= 2,800
301 LetEdEZ 8,000 6,000 2,000
= 4,000
= 1,200
= 2,800
12 JIEtB &3 8,000 6,000 2,000
= 4,000
= 1,200
= 2,800
= 0l & 8,000 6,000 2,000
= 4,000
= 1,200
i 2,800
OEAIZOIEN QdEE 8,000
= 4,000
& 1,200
i 2,800
NS SHAZAER CHEE K= 178 0 178
= 89

_11_
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=K B3
BH: BHOANY L Bol(HB/MIAE - 2T)
el JI=Hs e (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
09 HALAHIX&AZ = 175
= Off & 350 250 100
2 175
- 175
ONEL MBANSE BAT 24 350
= 175
= 175
12 JIEtE2 &3 2,650 2,950 A 300
= 1,325
= 1,325
= Ol & 2,650 2,950 A 300
= 1,325
= 1,325
OALEHE K& 2,650
= 1,325
= 1,325
o1& Ha 479,455 164,960 314,495
= 254,115
= 60,837
= 164,503
X HEOLA M2AHS 425,588 142,560 283,028
= 242,415
& 49,027
= 134,146
307 QIztol M 241,200 0 241,200
= 144,720
& 24,120
= 72,360
02 QIZHBAAMNIGEX 241,200 0 241,200
= 144,720
= 24,120
= 72,360
= 0ff & 241,200 0 241,200
= 144,720
= 24,120
= 72,360
OL=&d%X XZJIHX X&
1,608,000 *150CH 241,200
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A 23
HaM: SHAN Y Y 22 (SHH/AGEE - £F)
S tolEtd oHd (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
=2 144,720
== 24,120
o 72,360
402 QItXE01A 184,388 142,560 41,828
= 97,695
== 24,907
= 61,786
02 QIAX2AILEZ(0IETHE) 184,388 142,560 41,828
= 97,695
c 24,907
= 61,786
= 0l & 184,388 142,560 41,828
= 97,695
== 24,907
= 61,786
OO MZEX(DPF) £& 3,457,000 +8CH 27,656
= 13,828
== 4,148
o 9,680
O2A &I H DPF 2= 11,000, 000& *=2CH 22,000
= 13,200
== 2,200
o 6,600
OPM-NOx SAIH2EX 2=
16,866, 0003 *2CH 33,732
= 16,867
== 5,059
= 11,806
OLPG 2 X AlIX2 X3
4,000,000& =174 68,000
= 34,000
== 10,200
= 23,800
OA&EIA A WK 16,500, 0003 *2CH 33,000
= 19,800
= 3,300
= 9,900
020l SStxIe LPGX M X8 A 15,000 0 15,000
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SN 82D
M HAQANY L VA (BA/NGAE - 2F)
oS tHolstd N (e &
S-S (BN) - ANRAY - BAS (X o) o) HRE2
= 7,500
= 2,250
= 5,250
402 QIZ2EXt=0l M 15,000 0 15,000
= 7,500
& 2,250
= 5,250
02 QUAT2AIEEZ(0IXTHEA) 15,000 0 15,000
= 7,500
& 2,250
= 5,250
= 0l & 15,000 0 15,000
= 7,500
& 2,250
= 5,250
O g0l SEXe LPGRt 88 XI&
5,000,000& =3 CH 15,000
= 7,500
& 2,250
= 5,250
OlA X OloH ol AFS 15,200 22,400 AT,200
= 0
& 4,560
i 10,640
201 ety 5,200 12,400 AT,200
= 0
= 1,560
= 3,640
01 AFSRZ2lYl 5,200 12,400 AT,200
2 0
= 1,560
v 3,640
= Ol & 5,200 12,400 AT,200
2 0
& 1,560
= 3,640
ODINYX 0tA3 B3 X 5,200
= 0
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SN BAD
BH: BHOANY L Bol(HB/MIAE - 2T)
chel: o188 e (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 1,560
= 3,640
401 A&HIZ=20bI 10,000 10,000 0
= 3,000
= 7,000
01 Al&HI 10,000 10,000 0
= 3,000
= 7,000
= 0ff &F 10,000 10,000 0
== 3,000
= 7,000
OO0IMEX ¥ QE AMSS &X
10,000, 0003 *14] 10,000
= 3,000
i 7,000
T2 THEIAHX M2 AL 16,667 0 16,667
= 5,000
= 11,667
201  etI| 16,667 0 16,667
= 5,000
= 11,667
01 At 2eltl 16,667 0 16,667
= 5,000
= 11,667
= 0l & 16,667 0 16,667
& 5,000
= 11,667
O& =2 THHI &t R & =Xt Xt 16,667
& 5,000
= 11,667
NEE N=s2 BLH E2 ALY 7,000 0 7,000
= 4,200
= 2,800
402 QIZ2EX=01 M 7,000 0 7,000
= 4,200
= 2,800
02 QUAT2AILEX(0IXTHIA) 7,000 0 7,000
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A 23
M BAQANY L Vol(HB/MAE - +8)
e tolEtd e (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
02 QUIAT2AILEZ(0IETHE) = 4,200
iy 2,800
= 0ff &F 7,000 0 7,000
= 4,200
o 2,800
OIEZE M=sA B2 BE=2AY 7,000
= 4,200
= 2,800
Haoel(sH/dole) 6,494,867 6,050,016 444 851
= 46,489
== 110,414
= 6,337,964
Tl & ZAES 3,613,366 3,338,611 274,755
= 45,000
== 52,500
= 3,515,866
M =HMA HA 2,500,058 2,189,511 310,547
101 ol 24 H| 2,415,558 2,172,011 243,547
03 RIAHLZ2ZXHE S 2,415,558 2,107,619 307,939
= 0l & 2,415,558 2,107,619 307,939
O=Z0l3(34Y) 2,415,558
OJIEz(208) 2,896,670 x34H x12& 1,181,842
(OFSLES=, 40,800
—ItEx4 100,000& *34 x12& 40,800
O&gdd 85,680
— S22 90,000 *34H x12& 36,720
— & 120,000& *34H x12& 48,960
O=cl=4t] 83,229
— A2 B LG 148, 730& x27H x12& 48,189
— g4 80,000& x34H x12& 32,640
— Bt&E G 100,000& x2H x12& 2,400
oAM= 238,364
824 3,186,670& *34H x23| *50% 108,347
— @A SIIHl 3,186,670 *34H *23| *60% 130,017
Oxk=a2Y S 469,546
—Az2t2g
3,186,670 /226%1.5x34H x52 «6 Al 24 224,365
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SN D
FH: yiaze(sE/HIIS)
ool 2240 U BANES CERE
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
Y
3,186,670 /226%8*1.5%x4%H 52 35,195
—SE5L2RsE
3,186,670 /226+8%1.5+34H « 16 92,047
PN =E =y
3,186,670 /226%8%1.5+x34H «20 115,059
— =0l 30,0003 x2H x4 128 2,880
OXNUEUSHELZSY 14,761
—0SswW 12X ()
420,790 x349H x0. 15%43| 8,585
— S8 W 22X (L)
302,7203 *34H x0. 15%43| 6,176
O4lf B2 261,781
— 30AHZ 2,099,456,640% x4 .5% 94,476
—&THEE 2,099,456,640& *3. 1% 65,084
—HAEE 2,099,456,640% *3.23% 67,813
— LRI REEHE 67,813,000 *4.3% 2,916
—N82E 2,099,456,640& *1.5% 31,492
Ou =l 39,555
— A= (22 0ISY)
200,000& *34H «23| 13,600
—Ag=E(s#dEAY)
200,000 11 23] 4,400
— %9 % s 45,0003 «45% «33] 6,075
— ot& St 50,000 *»45H x43] 9,000
- 6003 »45F 2402 2| 6,480
201 eI 12,500 17,500 25,000
01 AtR2Zeldl 12,500 17,500 25,000
= 0fl & 12,500 17,500 A5,000
OMII=HHAH HE SEH S 5,000
O0ARYd S| 5,000
ONEZSZHE =M HHEZ 2,500
401 AEHIZROYI 72,000 0 72,000
01 Al&HI 72,000 0 72,000
= Ofl &F 72,000 0 72,000
OQLNHEZSZHE HE2 B+ 72,000
O=4 Ad WA 303,570 »168m’ 51,000
OEA 83 232 E SAt
30,000& »300m* 9,000
O EHE KRB 23 A
20,000& 600 m* 12,000
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SN B2
e HAB(2F/HIIE)
ool 2240 Y NS CERE
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
2ol40 % ZAES 263,540 304,560 A 41,020
201 Yur2Hl 16,600 14,600 2,000
01 At 22l 14,600 14,600 0
=004 14,600 14,600 0
OMYI £AHXE Hyl el
160,000 %207 £ 3,200
0E= 4 60,0002 =400 2,400
OE= MUK S 3008 *15,0000H 4,500
OHEHIIS ADEE K= 1502 *30,00004 4,500
03 A2 Y] 2,000 0 2,000
=0 2,000 0 2,000
OHAARBAT HEX AR 2,000
206 M2 177,140 127,620 49,520
01 MRl 177,140 127,620 49,520
=0 177,140 127,620 49,520
O=el4+HE8E 7Y 8,000
OMESE 2al+HU 200,008 *40% 8,000
oMHIIZS HETH 169, 140
OzgN =25 157,340
— 51 2621 +40,0000H 1,040
— 104 3621 +400,0000H 14,400
— 204 5721 %400, 00004 22,800
— 304 852 %300, 00004 25,500
— 504 1131300, 0000H 33,900
— 1002 1991 ¥300, 0000H 59,700
0338 =25 11,800
— 504 1181 100, 0000H 11,800
01 PRI 69,800 70,300 A500
12 JlEtR A 69,800 70,300 A500
=004 69,800 70,300 A500
oMEsE +3¥H2
1102 +7,500kg+7 5 * 128 69,300
OHZIIEEI A0 SA4Z 50,0008 1021 500
HAZY RN 324,340 218,040 106,300
201 sty 275,340 218,040 57,300
01 At 2reltl 40,800 36,000 4,800
=0 40,800 36,000 4,800
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SN e
HE: FAE (2F/HIIS)
Chel 2ala U LAES (2@
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OBAZAR AHEBE 7Y
1,500,000 «12& 18,000
OFAEBXEH 2L 22,800
Odl=ald 100,000 «45& =44 18,000
OA&EX 400,000& 128t A 4,800
02 22224l 234,540 182,040 52,500
= 0fl & 234,540 182,040 52,500
OFAXEY BMN==E 40,000 «16CH 640
OFAXY £448 L FHIRX 48,000
O&E A Xt 80,000kmOl & 3,000,000 *6CH 18,000
O& Xt 80,000kmOl Gt 3,000,000 «10CH 30,000
OFAXY =FU 1,400&+9,0004 =128 151,200
OYsSYA &M L =M 1,000,000 *3CH 3,000
OFAXE AUHEHEX =& 3,170,000 1004 31,700
405  THAHF S 49,000 0 49,000
01 NI =SHSHI 49,000 0 49,000
= Ofl & 49,000 0 49,000
oOYseA WA ¥ 2 7,000,000 7 CH 49,000
M dl SEEI ZAES 56,000 46,000 10,000
201  LEr2gH 9,000 9,000 0
01 A2l 9,000 9,000 0
= Ofl &F 9,000 9,000 0
OMY I BYSI YN 2B
100, 000 & *50H 5,000
oMY I BHEI 2F B2
50,000& <204 1,000
O=Y Sl M2l & ™2l 100,000& *30= 3,000
202 04| 2,000 2,000 0
01 LAY 2,000 2,000 0
= Ofl &F 2,000 2,000 0
MEd 2HEI WSS ol
20,000 »2H 502! 2,000
405  THAHF S HI 45,000 35,000 10,000
01 XL ESSHSHI 45,000 35,000 10,000
= Ofl & 45,000 35,000 10,000
OMY I RESI| HE-LAl Jtuet &
3,000,000 «15CH 45,000
SASF HJI=S SEH =& 339,428 330,500 8,928
201  LEL2gH 17,928 19,200 A1,272
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SAM: 3
o HAA(BE/HOIS)
Eol: =24 U ZAEE CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 At 2teltl 9,000 12,000 A 3,000
= 0l & 9,000 12,000 A 3,000
OSA=TEM =& 224l & 3,000
osasAd Il =HEDI 40,000 1504 6,000
02 =524l 8,928 7,200 1,728
= 0l & 8,928 7,200 1,728
ORFIDSAESMYU I SEEH |RAES
20,0003 x31CH*12& 7,440
ORFIDSASMY I SHEH sSK=
4,000 x31CH 123 1,488
206 M= Hl 16,500 16,500 0
01 M= Hl 16,500 16,500 0
= 0l & 16,500 16,500 0
osaAsAddl & ME Y 9,000
O& M & 9,000
— 34 30& 100, 0004 3,000
— 54 30& 100, 0004 3,000
— 204 30& 100, 0004 3,000
OSASMY Il JII] <EHI
30,000& 23| *125CH 7,500
307 QIztol ™ 288,000 226,800 61,200
05 QIZtRAES 288,000 226,800 61,200
= 0ff & 288,000 226,800 61,200
osAasMY Dl |EXHelb
150,000& x160E *12& 288,000
405  RHA&HFE S 17,000 68,000 251,000
01 XaR=ESHSHI 17,000 68,000 251,000
= 0l & 17,000 68,000 251,000
o=sAsMYIl SsHEIIAH 7
1,700,000 = 10CH 17,000
2SS &5 K& 25,000 10,000 15,000
= 7,500
= 7,500
= 10,000
401 AI&BIZ =208 25,000 10,000 15,000
= 7,500
= 7,500
i 10,000
01 Al&HI 25,000 10,000 15,000
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=K B3
Mz HAe|(EH/HIIS)
Eol: =24 U ZAEE CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
01 Al&HI| = 7,500
== 7,500
= 10,000
= 0l & 25,000 10,000 15,000
= 7,500
== 7,500
o 10,000
O=S&otY &5 KNIAAMY
5,000,000& *54] 25,000
= 7,500
== 7,500
= 10,000
Mg sUotYE =8 A Y 75,000 0 75,000
= 37,500
= 15,000
= 22,500
405  XHaHFE S| 75,000 0 75,000
37,500
== 15,000
= 22,500
01 ANMLEEFSHI 75,000 0 75,000
= 37,500
== 15,000
iy 22,500
= Ol & 75,000 0 75,000
= 37,500
== 15,000
= 22,500
oMEs suLE(asd S2stA) 75,000
= 37,500
== 15,000
= 22,500
E2 S 82 FHEH FAMg(BEE FoE 30,000 0 30,000
ol &)
== 30,000
401 AEBIZL LY 30,000 0 30,000
== 30,000
01 A&t 30,000 0 30,000

- 22 -




=K B3
Mz HAe|(EH/HIIS)
o 224 U RARE CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 Al&HI| & 30,000
= 0f 30,000 0 30,000
== 30,000
OZAl JtOict X & EE228s o 30,000
& 30,000
MEtFH FEBES 712,580 683,633 28,947
3 1,489
== 57,914
= 653,177
SESSIEA 2IOHE ALY 45,000 0 45,000
== 18,000
- 27,000
401 AlEHIZL20H] 45,000 0 45,000
= 18,000
o 27,000
01 Al&H| 45,000 0 45,000
= 18,000
= 27,000
=0l 4 45,000 0 45,000
== 18,000
= 27,000
O=+=FAHA AMEEH ¥ 23
10 2 %15,000,000& 15,000
== 9,000
o 6,000
oYM AI&EH & 23
30 A~ *10,000,000& 30,000
== 9,000
o 21,000
AsHIIES +=H - deldl XNEAY 30,000 25,000 5,000
== 9,000
= 21,000
201 Bt A H| 30,000 25,000 5,000
= 9,000
o 21,000
01 Ar®2telt] 30,000 25,000 5,000
== 9,000
iy 21,000
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SN B2
M HAB(BF/HIIS)
ool MEEM HABS CERE
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
= 0fl & 30,000 25,000 5,000
= 9,000
2 21,000
OYSHIS A HelAg
30021 +100,000kg 30,000
= 9,000
Z 21,000
TEsza 322 24,060 24,060 0
201 sty 24,060 24,060 0
01 AtR2relt] 24,060 24,060 0
=0l & 24,060 24,060 0
OREsTA HUEXNE L ELE BDHE
bl 100,000 %204 2,000
OSYEY FD AEH ME 2002500004 1,000
osima peE N
135,0002 * 1374 A 120 & 21,060
S MY = 477,520 535,091 A57,571
101 oIyl 468,320 524,091 A55,771
04 JIAHIENSES 468,320 524,091 A55,771
=0l 468,320 524,091 A55,771
CEEEET TS 49,821
oJea 68,7202 x2502 %2 34,360
OFF L GIR4E 68,720 +642L 2% 8,797
osg=Y3a 55,532, 0002 *12% 6,664
OOISHT WEXE £y o2y 418,499
OIS (HBLRK)
200,000 %82 * 122 * 142 268,800
OJE3(2xod)
78,0202 x82 122 148 104,859
osgeY3a 373,659,000 *12% 44,840
201 syl 1,500 1,500 0
01 At 2reltl 1,500 1,500 0
=0 1,500 1,500 0
OATE BURSF HY H4Y M
50,0002 *200H 1,000
OMUESEHE HEIIE 22 B4 HE
50,0002 * 100K 500
301 LMBHI 3,000 4,800 A 1,800
09 BAIAHIXIES 3,000 4,800 A 1,800
=0 3,000 4,800 A1,800
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SAM: 3
o HAA(BE/HOIS)
ol MEBFH NZEBE CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OXNASSHA AU XA 15,0003 x50H *43| 3,000
307  glztol A 4,700 4,700 0
02 UAHABLASEX 3,700 3,700 0
= 0f 3,700 3,700 0
OXNHESSLHUILEZE 23S XA 3,700
04 QIZtHAIAIREE X 1,000 1,000 0
= 0l & 1,000 1,000 0
OXNHESHET HEI|IE ;A 1,000
SEHH Y =H243 XA 15,000 12,000 3,000
= 1,489
= 914
2 12,597
301 etEdza 15,000 12,000 3,000
= 1,489
& 914
= 12,597
12 JIEt2 &3 15,000 12,000 3,000
= 1,489
= 914
= 12,597
= 0l & 15,000 12,000 3,000
= 1,489
= 914
= 12,597
OZ=sHUE =) 243 100& =150, 000kg 15,000
= 1,489
& 914
= 12,597
MEHIIZ2 =2l - HE SR0IAS 40,000 31,832 8,168
= 12,000
= 28,000
101 ol24d| 40,000 31,832 8,168
= 12,000
[ 28,000
04 JIZtHZZ2NSE= 40,000 31,832 8,168
== 12,000
i 28,000
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S 8D
Mz HAe|(EH/HIIS)
ol MEBFH NZEBE CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
= 0l & 40,000 31,832 8,168
== 12,000
o 28,000
OZcl s =<0l 40,000
oJlea 68,720 180 »2H 24,740
== 7,422
o 17,318
OFs % dx¥ 68,720 x48 x2H 6,598
== 1,980
o 4,618
OEgsed= 4,662
== 1,398
= 3,264
O=Utibl 4,000
— 2 FH| 10,0003 180 1,800
== 540
= 1,260
— I =4l 200,000 x2H 400
== 120
= 280
— 2tAlH| 5,000 x180L x2H 1,800
== 540
= 1,260
MEE2E £=HY E2AY 60,000 55,650 4,350
== 18,000
= 42,000
206 & H] 60,000 55,650 4,350
= 18,000
o 42,000
01 MZ 4| 60,000 55,650 4,350
== 18,000
iy 42,000
= 0ff A 60,000 55,650 4,350
== 18,000
= 42,000
oMgss A20tH 4,000& x15,0000H 60,000
== 18,000
= 42,000
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SN
X ZH -
L=

el

g
izl (2H/HIIE)
MEF=H FZES

o)
{0
]
{0

SH-EH. O (AN) - NRANY - B (X o) ) HDE2

SEHHY =H 21,000 0 21,000

307 QIztol M 21,000 0 21,000

05 QUZtRAESZ 21,000 0 21,000

= 0ff &F 21,000 0 21,000
OZ=HHlE #& =H 100& «210,000kg 21,000

HOI2 X2l 2,168,921 2,027,772 141,149

L22AANE2S 1,336,000 1,200,720 135,280

201 LBt 49H| 60,000 57,000 3,000

02 2229l 60,000 57,000 3,000

= 0l &F 60,000 57,000 3,000
QHIIEd=E AARHS3 60,000

207 A TN H 13,000 0 13,000

01 H1=24H| 13,000 0 13,000

= 0l & 13,000 0 13,000
OA2AE QZ2t(E AL E2A 13,000

307 gIztold 1,083,000 1,023,720 59,280

05 CIZtAEZ 1,083,000 1,023,720 59,280

= Ol &t 1,083,000 1,023,720 59,280
OA2tAIE BIZERIEF 2 FH| 1,083,000
OL2AM QIZERIE Y| 1,059,000
OXIIEE & 2828 SIE 24,000

401 Al&HIZ 20U 180,000 120,000 60,000

01 Al&UI 180,000 120,000 60,000

= Ol & 180,000 120,000 60,000
OOloI=d AHIOINH EZ At 22,000
QHIIZE SLEH E3At 22,000
OUstEs BE+=3At 40,000
OstaX WM ¥ B+3A 45,000
OWUE XD 22 E3 At 21,000
OAxZAd = 30,000

HE AL 2el 387,761 373,220 14,541

101 elAd4| 9,031 6,380 2,651

04 JI2ZtHZZ2NSE=S 9,031 6,380 2,651

= 0l & 9,031 6,380 2,651

OMMBEFH HFHY 22

125,420& x4 2«23 x9H 9,031

201 eI 293,030 286, 140 6,890
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SN 23D

M AL (BZ/HIIS)

CHol: HIIZ2H -2 ECHE
x s . Of &t o8 & & 0 A o -

SA B S (SH) - MEMY - BES =z T BlRE2
01 AtR@el| 140,330 133,440 6,890
=204 140,330 133,440 6,890

oY= gH| 25,000
CEET 8,0002! ¥4% x5 800
OHIISME OF U =E2lyl 86, 130
OUXE ¢ ==yl xt 63,360
— 24| 880,0002 62 « 12 63,360
OZEN 283y U1t 22,770
— 24| 660,000 *1.55| * 122 11,880
—gz 605,000 1.5 * 122 10,890
OMYAIL J=22te Syl
350,0002 * 122 4,200
OMYAIE AISH2| ZAL2E(&A0HE
) 3,200
OMBAE ELQHET A2 (A4
) 1,000,0002! *47H £ 4,000
OANEBZZ WX el U
17,000,0002! % 14! 17,000
02 22| 152,700 152,700 0
204 152,700 152,700 0
OHIIZHE HWERY2 66,000
02222 2 MA 41,700
OAN MY S 45,000
206 TRl 20,700 20,700 0
o1 Mzl 20,700 20,700 0
204 20,700 20,700 0
ONYR MNY2 ZTHE 21 22
1,500,0008! *33] 4,500
OFE+HeN SYAE Y 8,200
otles 4002 *10,000kg 4,000
OEZelgst 2205 (PAC) 3002 +3,000kg 900
OnNEXSHH 5,5002 *600kg 3,300
ogasH 20,0002 *400¢ 8,000
207 SRHELH 20,000 20,000 0
01 ARSI 20,000 20,000 0
=0l & 20,000 20,000 0
ONHSALAE BHOl0/8 BAABZTA
20,000,0002 *14! 20,000
401 ASH L2 45,000 40,000 5,000
01 A&l 45,000 40,000 5,000




SN

g

M AL (BZ/HIIS)
CHol: HIIZ2H -2 ECHE
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
=0 o 45,000 40,000 5,000
ONHER 227 AT olu
25,000,0002 *14! 25,000
OUEAL 24 20,000
WESHEALB2 (WXL AY) 274,160 257,832 16,328
101 @12y 161,960 159,832 2,128
04 JIAHI2ERSES 161,960 159,832 2,128
20 & 161,960 159,832 2,128
oMYl 2ME Ry 114,708
o=z 68,7202 %2502 x4 68,720
OFF ¥ AX4+Y 68,720 +642 x4 17,593
Oggaesy 103,080 *202 x4 8,247
ogseea 94,560, 0002 *12% 11,348
oslzsy 1,900,000 x4 7,600
oul = 150, 00081 *25] *4% 1,200
OMEEE d8 LAY 22y
118, 1302 * 102 +8 *5 47,252
201 Lty 92,200 88,000 4,200
01 AtR @I 32,200 28,000 4,200
20 o 32,200 28,000 4,200
oMgEMEISY Jl24E 5,000
OO 22 6,0002! 1,200 7,200
OMEBHIIS B2 OHLYE XM= 20,000
02 B2 60,000 60,000 0
20 o 60,000 60,000 0
OZB2RZ 2 HA 50,000
oo 2t 10,000
401 AlZHlL Lol 20,000 10,000 10,000
01 A&yl 20,000 10,000 10,000
=0l & 20,000 10,000 10,000
OMEBELLAL 24 20,000
HEEEs sZne 171,000 196,000 ~25,000
203 HREH 1,000 1,000 0
03 AHEIYREAY| 1,000 1,000 0
=0l & 1,000 1,000 0
ONYR FHIY QFARET
20,0002 %102 %53 1,000
401 A&SH LY 50,000 100,000 A 50,000
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SN

g

FH: yiaze(sE/HIIS)
o2l HolSHdel (o2&
A EY - SA(B) - NS - B (X o) ) DS

01 A&l 50,000 100,000 A 50,000

= Off & 50,000 100,000 A 50,000
OEZ0tS ML Z AEZA S 50,000

402 U2t =20lH 120,000 45,000 75,000

01 RI2ZPT2 ALY 2 (XhAITH A ) 120,000 45,000 75,000

= Off & 120,000 45,000 75,000
OMEE FHXNYG FU=SAAMY 120,000
OR)LEOIEs 2 B3 A 50,000
Otietits 2L d XA 50,000
O=dUHEA 2dH Ex+3A 20,000

HAY2FZHI(IIEH/IIE}) 106,608 103,428 3,180

Jl2dyl (20 106,608 103,428 3,180

HEFXAH| 4,200 4,200 0

203 SR FAH 4,200 4,200 0

04 EA2IHRFEH 4,200 4,200 0

= 0fl & 4,200 4,200 0
ORN2IHRFLHI 350,000& x12& 4,200

22 Ab| 22,908 22,908 0

201  LBt249| 22,908 22,908 0

01 At 2eltl 22,508 22,508 0

= 0fl & 22,508 22,508 0
og=2H| 17,670
O= &l 4,838

02 22293l 400 400 0

= 0fl & 400 400 0
ORNM2ZE JIE2E22R3 400

04 gl 79,500 76,320 3,180

202  Oidl 79,500 76,320 3,180

01 3L I 79,500 76,320 3,180

= 0fl & 79,500 76,320 3,180

OJl2gR=30oid (2U)

200,000 »25H x12& 60,000
O=2Us&0LI (&) 65,0003 x25H x 128 19,500
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